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Four alternative are given for each of the following questions /
incomplete statements. Only one of them is correct or most
appropriate. Choose the correct alternative and write the complete
answer along with its alphabet in the space provided against each

question. 10x1=10
1. India has democratic republican constitution where as at the time of emergence of Pakistan
it had

a) Written constitution
b) Religious constitution
c) Socialist constitution
d) Secular constitution
2. Nepal has to depend mainly on india for many things because
a) Itisacolony of india
b) Itis a monarch country
c) Itisalandlocked country
d) Itisthe centre for SAARC
3. The successor of European union is
a) United nations organisation
b) United kingdom
c) European Economic Community
d) Euro
4. The practice of untouchability in India is dying down as a result of
a) Gradual increase in communalism
b) Gradual increase in literacy
c) Gradual increase in linguism
d) Gradual increase in castism
5. The South West Monsoon winds starts receding by the end of October because
a) Of low temperature and high pressure
b) Of high temperature and low pressure
c) Of high temperature and high pressure
d) Of low temperature and low pressure
6. The exact matching of the marked places

a) 1-Khandla,2-Chennai,3-Kolkata
1.e b) 1-Goa,2-Chennai,3-Kolkata
2 ¢) 1-Chennai,2-Khandla,3-Goa

- ® 3, d) 1-Kolkata,2-Goa,3-Chennai



7. Inthe list A group of leaders and in list B achievements are given , identify the group that

matches
List A
1) Sardhar Patel
2) Fazal Ali
3) B.R.Ambedkar
4) Tilak
a. 1-A2-C,3-D,4-B
b. 1-B,2-D,3-C,4-A
c. 1-C,2-A,3-B,4-D
d. 1-D,2-B,3-A,4-C
8. The major sources of revenue for the government is
a) Loans
b) Fines
c) Taxes
d) Fees
9. The recent development in the banking industry is
a) Nationalising the banks
b) Inclusion of post offices
c) Privatisation of banks
d) Merger of all banks with reserve bank

10. The founder entrepreneur of Infosys Technologies LTD is

a) Narayan Murthy
b) Naresh Goyal

c) Azim Premiji

d) Varghese Kurien

Anser the following in asentence each

List B
A)reorganisation of states
B)Mahad and Kalaram
C)integrated princely states
D)kesari and Maratha

1x14=14

What is oral history?

What is holocaust?

What is regionalism?

Which conference signed the charter of UNO?
Hat is female infanticide?

What is subsistence farming?
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What is golden revolution?

10. Which mine is largest producer of gold in India?
11. Why is Mumbai called Manchester of India?

12. How is standard of living measured?

How are the people trying to escape from Dowry menace?

What was the important feature of the Government of India act of 1935?



13.
14.

What is national income?
What is the expansion of NABARD?

Answer the following in 2 to 4 sentences each 2x15=30
1. How did the British convert Bombay, Madras and Calcutta into their Administration centres?
2. What were the terms of subsidiary alliance?
3. What were the social reforms brought by Prarthana Samaj?
4. What were the causes for the growth of dictator like Hitler?
5. Which are the fields that come under the corruption practices?
6. How has the Indian constitution supported human rights?
7. Why was silent valley movement organised?
8. Name important peaks of Himadri.
9. What are the compositions of soil?
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14.
15.

. “There should be harmony (balance) between populations and available natural resources’

. What are the main causes for destruction of forests?
. How id GPS different from GIS?
. What are the effects of coastal erosion?

’

why?
What was the role of Sri Swaminathan in attaining the Green Revolution?
What are the main functions of WTO?

Answer the following in 2 to 4 sentences each 2x15=30

What made Mangal Panday kill the British officer?

Or
“The educational developments during British rule has resulted in retaining their identity”
explain.

What are Panchasheela principles?
Or
Explain India’s relationship with the USA

What leads to satisfaction of society?
Or
Explain paid and unpaid work.



4. List out the major parts of eastern and western coasts separately.
Or
Knowledge based industry is playing an important role in the economic development of
India. Explain.

5. How is women self help groups creating a progressive rural society?
Or
Explain the different types of budget.

6. What are the services offered by banks?

Or
Which are the seven principles of insurance?

Answer the following in 8 sentences each 4x2=8

1. Describe the tribal revolts in the freedom movement of India.(4)

Draw an outline map of India and mark these 1+3=4
A) Mumbai
B) North-Western neighbour country
C) Hatti gold mine



